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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.
English version is authentic.
Answer any seven out of ten. £l 515U Uldl sxalsL LU,
1. State the Pascal’s Law.
1 RSl (a4 quil,
2. List the Pressure Measurement Devices.
2. EOUBLHIUALAL AIHALAL A1) oidle
3. Explain Venacontracta with Sketch.
3. Aisleaisal 2s(d 212l aHmdl,
4. Write Bernoulli’s equation.
¥, oedldld dHlsro dv,
5. List Different types of Orifice.
U sREuALus1R <AL a1l qul,
6.  Write Specific Weight and Density of Water in Sl unit.
<. il (Al asyd sid Hedl ST U Ani syudl,
7. Write equation for Equivalent Pipe.
9. UHSE UIOU HIZ U520 v,
8. Write the use of Pitot tube.
¢, 2z 21401l GuAloL vl
9.  Give Mannig’s formulla and Chezy’s formulla
. AL WAy slHdl w4 Aoy sivlal
10. Define: (1) H.G.L (2) T.E.L
10, AALBUL:(1) ¢lds a1l (2) 58 sthalsd e
(@  Explain Simple U-tube Manometer with neat sketch.

() AUIE %2401 HAlH122 5[ 2] Auomdl.
OR
(@ Convert as stated:

1) 0.9 m Mercury head(Sp.gr. 13.6) in to KN/m?
2) 10 m of Water head into mercury head

() oYELUeAL UHLBL g2Al:
1) 0.9 Hl wizldl 2lliq (Al 4ddl 13.2) KN/m? i
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2) 10 Hl.uwwfll 2liq wiziql silixi.

Derive equation for total pressure on vertically immersed Surface.
BLe{l Ad £o1se AUIZL HIZ 5E £oAlRL < U dlRAL
OR
A circular plate 1.8 m dia is vertically immersed in a water.The Centre of the

circularplate is at 3.2 m below the free surface. Determine the total pressure
and position of centre of pressure.

1.8 Hl @l 215 adousiz wdz wllii Glsa vidl 4 goukdl €9 5 oxedl adousiz
12 seg UALSLAL Hsd HuiZledl 3.2 |l 1A 28 8 54 dloid vz vdz adausiz dl
Elot5eg, dAL £0UBL LML

Derive equation for Center of pressure for Vertically immersed Surface.
GLAl Ad 01134 AULZ] HIZ Blotseged, Ao d1zdl,

OR
A triangular Plate of base 1 m and altitude 1.2 m is immersed in water
vertically such that its base below the altitude and parallel to water surface
and at a depth of 1.5 m below free liquid surface. Find Water pressure and
depth of centre of pressure.

215 1 4l wial dz 1.2 Hl 44 sriadl Bistasiz wdzd wielul Glel vt <ld golzel 95
Al 45 UL GUR dzl WAl WLl Y5d AWl “Hidz dan 1.5 4l Gladui ¢ &9
L2 U @l 58 00 AL E1ot5 =g ML,

Explain Burdon tube Pressure Gauage with sketch.
o181l 2404 UAR Aoy 2A15[d 21Z] UHMdle

OR
A 100 mm x 200 mm venturimeter is fitted in a pipe carrying liquid having
specific gravity 0.8. If deflection of mercury in U-tube manometer is 300
mm. Calculate discharge in lit/sec. Cd = 0.98.

100 mm X 200 mm Hiu< 42424122 0.8 [Ala2 dediaion uaEld als sl
Eldsy AoilsiMlL sx1galMl 2U9a &9, oxl ‘U’ 240t HellHl2zAl Wizl (4344 300 mm
S AL UALELAL [As1 (@22 /258 Hi 2iHle Cd=0.98 QL.

Write assumptions of Bernoulli’s theorem.
opelicilel Als20 <l Bzl qu,

OR
Write Limitations of Bernoulli’s theorem.
oplicilell Yls0 <l Alelzil qul,

Explain all Hydraulic Co-efficients.
ol ABLISL UHMAl,

Explain types of hydraulic Jump. or
oyl 52511 USIRL AHAAL.
Explain Specific Energy diagram.
URAES 2449 AU AHMALL

OR

The water is flowing through a 2 m length of vertical pipe at a rate of 30
liter/Sec from top to bottom. Pipe having 10 cm diameter at top & 5 cm
diameter at bottom end. Determine the difference of pressure head at both
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ends of pipe .
2 Hl diotl Glel 2al ULl Guel 6931l 41 10 AH| 24 1AL 981 24 5
A4l &9 well wiSumi Guzel dla-dl ousyst 30 [@22/A5<8l 228l A 89, UISU-L ol
£931 422, £0UBLeAL d5lAd AL
Drive equation for discharge over triangular notch.
Bisieustz U Guedl adi [3zausy Hizd Ut dlrdl,
OR
A compound pipe line 1650 mt long is made up of 45 cm diameter for 900

mt, 47.5 cm diameter for 450 mt and 30 cm diameter for 300 mt is required to
replace by a pipe of uniform diameter. Find the diameter of equivalent pipe.

25 SWGs WU 1650 #l aiofl €9.0041 900 Hl dorlsdil uiu 45 A4l -l
450 4l dotis) 47.5 A4l -l 300 4l douddl widu 30 Al il ©9. 21
YISUALD A 2lsUUL AL 204 d2dl oy dondedl Ausa wduaid 42 ozl
520l £9 dl UHSE WSUAL AL AR,

Enlist types of Weir and Notches.
(A2 24 Al”AL USI2 AW,

OR
A triangular notch with 60 degree angle is used to measure the discharge of
water. The depth of water above the notch is 0. 3m. Calculate discharge. Take
Cd=0.60.

60" v ALl BisTRUS1R Wi HIZ 012 dell Uzl 2l 0.3 Hl €l IR dedl uzell w1z
2l ULl £2 Ml Cd=0.60 d@l.

Drive equation for discharge over rectangular notch.

coalie AU Guzel Adi [3xalsy Hizd 4t dlrdl,

OR
A rectangular channel 4 m wide and 1 m deep has a longitudinal slope of 1 in
1000 . Determine the discharge through channel if Chezy’s constant = 50

Bl dolRY 462l sy 4 Hl dal 1 4l 9.4a14l 21 1:1000 A4l Akl

YOS 50 $IA Al 4G AL (45124 Q1M
Derive equation for discharge through Venturimeter.
de=2lHlzamiel adi [sea1sy Hizd ¥ dlRal,

Explain: Steady flow ,Unsteady flow, Laminar flow and turbulent flow.
AHAL: 228 sal, 2124 54, AlHeAIR 58l 21 20442 sl

A jet of water is issued from a 4.0 cm diameter sharp edge orifice under a
constant head of 3.0 m. Vertical & horizontal coordinate of a point on the jet

measured from venacontracta are 40 cm and 200 cm respectively. Calculate
Cd. ifCc=0.63.

dlewL s1za1uil 4.0 A4 Al UR[EuHEL 3.0 Hl 2120 2lbel el stz 5o &9,
Aeisleaisaiell G dal Aldsy UHidR AL vidsH 40 A.HL 421 200 AL 9.0
Cc=0.63 S14 Al Cd < 4et 2iHl.

Water is flowing through 30 mm diameter pipe with mean velocity of 75
cm/s. If kinematic viscosity is 1.31 X 10-6 m?/Sec . Find the type of flow.

30 mm A9l 245 WSUHITS A4l /A5 <l aldedl vl ag .00 vl
s[5 (4512412 1.31 X 1070 {12258 €14 dL UL Al us1R WAL
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Explain different types of Energy.
642l %2l Us12el 2% AHMAL.
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